
Allal mahdade       http://allalmahdade.ifrance.com 
 

1 


ر�� ا������ �� 
���� ����3  
  

 �����7   
��� ������ك AB ��� ا���ء S ــ ��
	 أن ��آ� 1   

 	� �����ه"� ا�%�$� ا�#�آ
� �"! ا�� �ل ا�� '�%�A إ�� B   

    )R(W)P(Wmv
2

1
mv

2

1 2
A

2
B

��

+=−  

�, ا�+*%
�ت �"!�� �vB=0 و P ����. ا� !��*�� AB  /01 إدنP م!*"�  .  

0)R(Wmv
2

1 2
A ≠=−

�

�8 �+7د�6 ��� ا���ء R إذن    
� AB ��� أن ا�#�آ� 	
�6 �+� S ك������ ���  .  

   ϕ و a ��<!� g ــ ا��*�
� �	 ا����رع 2
 =
��"6!�� �
  �%�' ا�*@$� ا?<�<

amRP
�

��

Ox xx وإ< �ط ا�*@$� ��� ا�+#7ر += maR =   

Oy 0RPو���  y =+−  

�"!�� و

g

a
-         

mg

ma

R

R
tg

x

x

y

x

=

−=−=ϕ
    

إذن 

x

2
y

2
x

x

aa

aaa

tg.ga

=

+=

−= ϕ

   ay=0      و�*�� أن 

2s/m5.2a

tg.ga

=

= ϕ
     

3 ���� �
�
���
  :  ــ �Cآ� ���%�$� ا�+
   CPm EEE 
E أن =+#�    EP و �
�� Fا� .G7ا� �$�H EC �
   هI ا�%�$� ا�#�آ


�ر ا�+�Jا ����7ى ا?I M ا�Cي K6+/ ا�" %� ��, ا�+*%
�ت I �% "ا� IM أي أن �
�� Fا� .G7ا� �$�%� �*O�� I 7ن�� 
EP=0 7ه �
�� Fا� .G7ا� �$�H �
�*�CtemgzEP و�*�� أن     Cte=0 أي أن I CJP� z=0 �"! ا�" %� =+

mgzEP =  

  IMB ا�" %� 
)0(v      0E

r)(z   mgrE

BC

P

==
==

mgr)B(Emأي أن         = 

  

IMM 2 ا�" %� 
MC

P

mv
2

1
E

cosmgrE

=

= θ
θcosmgrmv   أي أن   

2

1
)M(E 2

Mm +=   

 * ����
� ا��*� R�"���vM   

� �BC+� أن ا���� 6"��' ��� ا���ء �
���
M(E)B(E(أي أن .  �!ون ا����ك إذن ه"�ك ا�#�Tظ ا�%�$� ا�+ mM =    

)cos1(gr2v

mgrcosmgrmv
2

1

M

2
m

θ

θ

−=

=+
  


� ا���� ��� ا����   C θ=θm ــ IM ا�" %� 4VP�   R=0 أي أن S  و و6"*!م 

 =
��"6!�� �
amRP�%�' ا�*@$� ا?<�<
�

��

   IM M ا�" %� +=
 I"6�M ��*� IM �$@*ا� W ��(M,u,n)   



Allal mahdade       http://allalmahdade.ifrance.com 
 

2 

)2(
r

v
mR-mgcos   :   )n,M(

)1(
dt

dv
m0mgsin   :    )u,M(

2
M

M

=

=+

θ

θ

�

�

  

��� IMC    R=0 ا�" %� "���    θ=θm نXM )cos1(gr2v m
2

C θ−= 

   IM(2) ا�*@$� 

3

2
cos

cos22cos
r

)cos1(gr2
mcosmg

m

mm

m
m

=

−=

−
=

θ

θθ

θθ

  

  
  

 

 	6�+�8   

*� ��آ� 1 ــ 1�H  S ا���ء IM AB   

��!أ ا� 7Zر 	�
� و : ا�%@$� +
 ���0RPا���� IM ��آ� 
���

=+ �
+
 ��� ]ذن <��� ا���� ����V أي أن ا�#�آ� 

 �+\�"��*�د��[� ا��.  /�Kا� ��� ,��� �
"�00 xtvx  وا��v0=2m/s I  و ا����� t=0 �"6!�  x0=0 �"! ا��#\� =+

J ����V .t2x@ل ا�#�آ�  =  

+� ا�����  2 ــ 1$vB=v0=2m/s ن ��آ�? S �+\�"� �
+
 ���  .  ��آ� 

� �#�آ� 3 ــ 1"�   BC ��� ا���ء S ا�+*�د�� ا��


= �%�' ا��"6!��  �
  �*@$� ا?<�<

amRP
�

��

=+    
� W ا�*@$� ��� �Ox xmasinmg =− α  

αsingaa x −==  


' �!دي �%�2s/m5a −  
0
�ة ����\�م IM BC ا���ء Sا����رع 8��V إذن ��آ� �� �
+
 ������, ��� .  ��آ�  �
"�  ا��K/ ا����I أي أن ا�+*�د�� ا��

t2t
2

5
x 2 +−= ��CJ0 أ  =t 0=0 أنx=x   



Allal mahdade       http://allalmahdade.ifrance.com 
 

3 

�[+�� IM هC` ا�#��� و���M_ $7ة1 ــ 2 �
a أن ا>����آ�ت ���*�  fr 7از�6 ��+#7ر� Ox   

= ���AB ا���ء ��"6!�� �
  :  �%�' ا�*@$� ا?<�<

0Rmg

maf

y

1r

=+−
=−

  


=  �%�' ا�*@$� ا?<�<
� ��!���BC"6 ا���ء �� :  

0Rcosmg

)1(mafsinmg

y

2r

=+−
=−−

α
α

  

IM)1 (21 ا�*@$�  mamasinmg =+− α  

��"�R أن �αsingaa 21 +=  
��� fr ــ 1!ة $7ى ا>����ك 3"��� AB=1m   

1r maf =  
��ب �a1 ا���ء ��� 	�
' ا�*@$� ا�+�� �� �	 ا���%�� AB   

ABa2vv 1
2

B
2

0 =−  

�*@$� ا�+�� �� �	 ا���	 ��� و�%�' ا
 BCا���ء 

α

α

sin

'h
a2v

sin

'h
a2v

2
2

B

2
2

B

−=

=−
 

 '����, ا��fال ا�� :
αsingaa 12 −=                  

ABa2vv

sin

'h)singa(2
v

1
2

0
2

B

12
B

−=

−
−=

α
α

  

2
01

1
1

2
0

v'gh2)
sin

'h2
AB2(a

sin

)singa(2
ABa2v

−=+

−−=−

α

β
α

  

αsin

'h2
AB2

v'gh2
a

2
0

1

+

−
=  

��"�R 1!ة ا� 7ى �fr   

αsin

'h2
AB2

)'gh2v(m
f

2
0

r

+

−
=   


' �!دي �%�:N2-.10.471=rf 
  

 


